INTERNATIONAL KANGAROO LINGUISTIC CONTEST

Answer Sheet

PRE ECOLIER LEVEL (Class 1 & 2)
- Fill all boxes of answer sheet using permanent ink.

Roll No XEENODGRO06

District Code XX Institution Code Xm0
Student Name ACDOEK MO IO KN

Father Name 0G0 DERCCE NN M RN KON X

Class/Grade X

Institution Name  MAGOBOEEXNOCN XXM
Address

District XXX

Choose only one of the five proposed answers (A, B, C, D or E) and fill in the box with your answer.
Example of correctly filled table of answers is:

T.i— D | E |.-_-grrectfi||il13 A !K C_]. b ‘ E | wrong filling
' ! wrong fillin
| B !g': D|E | g filling

B | g . E !wrnngﬂlling
D

A
D
[
|

a3

E i wrong filling

Q ANSWERS Q ANSWERS Q ANSWERS
T . L o=
1/alB|c|D|E| 11|ABCD]E 21|A‘Blt bl E
z’aac]nll-:: 12 alelcl|lol| e ZZIA‘Bl p|E|
e — e e — T
3| A B] D|E 13 ajB|c|D E 23|A|B|CD E |
. el i e L Al NS v e S
4:_A___E!C D|E 14 A|B|C|D E 24| A B [C|D E-
- ._—_——'— B - =
s(alB|cC B €| 15/ a|8|c|p|E
6/AalB|c|D|E] 16|alB|c|D|E
7lalelc|nle 7| A|B|c|D|E|
i _ ==
8(A|B c|D]|E| 18| A |8 |c|o|E]
o|a|BicC D E_! 19(a]8]c o] E]

YRR



INTERNATIONAL KANGAROO LINGUISTIC CONTEST

Answer Sheet
ECOLIER LEVEL [Class 3 & 4)
- Fill all boxes of answer sheet using permanent ink.
Roll No XTI IIA02E
District Code XX Institution Code xExX3¢
Student Name RACRDOBOEXAIOORKIMNEN.
Father Name IR DRSO M ORI KOS X

Class/Grade X

Institution Name  EXNIOGOUMEMNOCN X XHANX
Address

District XXX

Choose only one of the five proposed answers (A, B, C, D or E) and fill in the box with your answer.
Example of correctly filled table of answers is:

T.i— D | E |.-_-grrectfi||il13 A ! C_]. b ‘ E | wrong filling
' ! wrong fillin
| B !g': Pl E | g filling

B | g . E !wrnngﬂlling
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INTERNATIONAL KANGAROO LINGUISTIC CONTEST

Answer Sheet

BENJAMIN LEVEL (Class 5 & 6)
- Fill all boxes of answer sheet using permanent ink.

Roll No 008 XXMM

District Code XX Institution Code XmI0(
Student Name EOM DD XN

Father Name mmL

Class/Grade h 4

Institution Name  XAGOBDOAOONMMON XXX

Address NEXXXNENEXMIONXENPOORE

District AXNERK

Choose only one of the five proposed answers (A, B, C, D or E) and fill in the box with your answer.
Example of correctly filled table of answers is:

_A_. C | _Dl .E | correct filling A X _-C_ _DTE— wrong filling
Al B _a’l D | E i wrong filling
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INTERNATIONAL KANGAROO LINGUISTIC CONTEST

Answer Sheet
CADET LEVEL (Class 7 & B)
- Fill all boxes of answer sheet using permanent ink.
Roll No XA B KEAIFODOK
District Code b (. Institution Code XXXEX

Student Name KPR KPOLROXHEXK

Father Name MO MR B X
Class/Grade £

Institution Name

Address

District REM

Choose only one of the five proposed answers (A, B, C, D or E) and fill in the box with your answer,
Example of correctly filled table of answers is:

_]c D ! .E_:nrrectﬁlling A x C B g wrong filling

A g G’ D E wrong filling

Cc . wrungﬂlling
A l E wrong filling
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INTERNATIONAL KANGAROO LINGUISTIC CONTEST

Answer Sheet
JUNIOR LEVEL (Class 9 & 10)
= Fill all boxes of answer sheet using permanent ink.
Roll No XO0E9DR XK 00D
District Code b 1 Institution Code xmxoex

Student Name ENOCEEE MM MO ACENEN N
Father Name NAXDODEXDRENXE0
Class/Grade XK

Institution Name

Address

District XXHNK

Choose only one of the five proposed answers (A, B, C, D or E} and fill in the box with your answer.
Example of correctly filled table of answers is:

A . €| B g E  correct filling A X C 'D g wrong filling

A B ? D g wrong filling
A | B  C . E
A l . D E_ wrong filling

wrong filling
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INTERNATIONAL KANGAROO LINGUISTIC CONTEST

Answer Sheet

STUDENT LEVEL (Class 11 & 12)

- Fill all boxes of answer sheet using permanent ink.

Roll No

District Code
Student Name
Father Name
Class/Grade
Institution Name

Address

District

XXX : Institution Code XNMXX

DB 0 XK KO0 X XELA0K
xx

Choose only one of the five proposed answers (A, B, C, D or E) and fill in the box with your answer.
Example of correctly filled table of answers is;
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